

Applications of power increasing sequences

ABSTRACT. In the present paper, a general theorem dealing with absolute matrix summability of an infinite series has been established by using a quasi power increasing sequence instead of an almost increasing sequence. Also, some results have been obtained from this theorem.

Keywords: absolute matrix summability, almost increasing sequences, Hölder's inequality, infinite series, quasi power increasing sequences

MSC (2020): 26D15; 40D15; 40F05; 40G99.

1 Introduction

Let $\sum a_n$ be a given infinite series with the partial sums (s_n) . Let (p_n) be a sequence of positive numbers such that

$$P_n = \sum_{v=0}^n p_v \rightarrow \infty \quad \text{as} \quad (n \rightarrow \infty), \quad (P_{-i} = p_{-i} = 0, \quad i \geq 1).$$

The sequence-to-sequence transformation

$$z_n = \frac{1}{P_n} \sum_{v=0}^n p_v s_v$$

defines the sequence (z_n) of the Riesz mean or simply the $(\bar{N}, p_n)$ mean of the sequence (s_n) , generated by the sequence of coefficients (p_n) (see [10]).

Let $B = (b_{nv})$ be a normal matrix, i.e., a lower triangular matrix of nonzero diagonal entries. Then B defines the sequence-to-sequence transformation, mapping the sequence $s = (s_n)$ to

$Bs = (B_n(s))$, where

$$B_n(s) = \sum_{v=0}^n b_{nv} s_v, \quad n = 0, 1, \dots$$

Let (φ_n) be any sequence of positive real numbers. The series $\sum a_n$ is said to be summable $\varphi - |B, p_n|_k$, $k \geq 1$, if (see [15])

$$\sum_{n=1}^{\infty} \varphi_n^{k-1} |B_n(s) - B_{n-1}(s)|^k < \infty.$$

If we take $\varphi_n = \frac{P_n}{p_n}$, then $\varphi - |B, p_n|_k$ summability reduces to $|B, p_n|_k$ summability (see [24]). Also, if we take $\varphi_n = \frac{P_n}{p_n}$ and $b_{nv} = \frac{p_v}{P_n}$, then we get $|\bar{N}, p_n|_k$ summability (see [2]).

Given a normal matrix $B = (b_{nv})$, we associate two lower semimatrices $\bar{B} = (\bar{b}_{nv})$ and $\hat{B} = (\hat{b}_{nv})$ as follows:

$$\bar{b}_{nv} = \sum_{i=v}^n b_{ni}, \quad n, v = 0, 1, \dots \quad (1)$$

$$\hat{b}_{00} = \bar{b}_{00} = b_{00}, \quad \hat{b}_{nv} = \bar{b}_{nv} - \bar{b}_{n-1,v}, \quad n = 1, 2, \dots \quad (2)$$

and

$$B_n(s) = \sum_{v=0}^n b_{nv} s_v = \sum_{v=0}^n \bar{b}_{nv} a_v$$

$$\bar{\Delta} B_n(s) = B_n(s) - B_{n-1}(s) = \sum_{v=0}^n \hat{b}_{nv} a_v. \quad (3)$$

A positive sequence (g_n) is said to be almost increasing if there exist a positive increasing sequence (c_n) and two positive constant M and N such that $M c_n \leq g_n \leq N c_n$ (see [1]). Obviously, every increasing sequence is almost increasing. However, the converse need not be true as can be seen by taking an example, say, $b_n = n e^{(-1)^n}$. A positive sequence $X = (X_n)$ is said to be a quasi- f -power increasing sequence if there exists a constant $K = K(X, f) \geq 1$ such that $K f_n X_n \geq f_m X_m$ for all $n \geq m \geq 1$, where $f = (f_n) = \{n^\delta (\log n)^\sigma, \sigma \geq 0, 0 < \delta < 1\}$ (see [25]). If we take $\sigma=0$, then we get a quasi δ -power increasing sequence (see [13]). It should be noted that, every almost increasing sequence is a quasi δ -power increasing sequence for any nonnegative δ , but the converse need not be true as can be seen by taking the example, say $\gamma_n = n^{-\delta}$ for $\delta > 0$. A sequence (λ_n) is said to be of bounded variation, denoted by $(\lambda_n) \in \mathcal{BV}$, if $\sum_{n=1}^{\infty} |\Delta \lambda_n| = \sum_{n=1}^{\infty} |\lambda_n - \lambda_{n+1}| < \infty$.

This work considers quasi- f -power increasing sequences as the underlying structural framework. This choice enables us to extend and refine existing summability results compared with almost increasing sequences, demonstrating that weaker conditions are sufficient to obtain meaningful and strong convergence theorems.

2 Known Result

In [3], Bor has proved the following theorem for $|\bar{N}, p_n|_k$ summability factors of infinite series by using an almost increasing sequence.

Theorem 1 *Let (X_n) be an almost increasing sequence and let there be sequences (β_n) and (λ_n) such that*

$$|\Delta\lambda_n| \leq \beta_n, \quad (4)$$

$$\beta_n \rightarrow 0 \quad \text{as } n \rightarrow \infty, \quad (5)$$

$$\sum_{n=1}^{\infty} n |\Delta\beta_n| X_n < \infty, \quad (6)$$

$$|\lambda_n| X_n = O(1). \quad (7)$$

If

$$\sum_{n=1}^m \frac{|\lambda_n|}{n} = O(1) \quad \text{as } m \rightarrow \infty, \quad (8)$$

$$\sum_{n=1}^m \frac{1}{n} |t_n|^k = O(X_m) \quad \text{as } m \rightarrow \infty,$$

and (p_n) is a sequence such that

$$\sum_{n=1}^m \frac{p_n}{P_n} |t_n|^k = O(X_m) \quad \text{as } m \rightarrow \infty,$$

where (t_n) is the n -th $(C, 1)$ mean of the sequence (na_n) , then the series $\sum a_n \lambda_n$ is summable $|\bar{N}, p_n|_k, k \geq 1$.

3 Main Result

Many works dealing with absolute summability and absolute matrix summability factors of an infinite series have been done (see [4, 5, 7–9, 11, 12, 17–23]). The aim of this paper is to prove following theorem which generalizes Theorem 1 by applying quasi power increasing sequences.

Theorem 2 *Let $B = (b_{nv})$ be a positive normal matrix such that*

$$\bar{b}_{n0} = 1, \quad n = 0, 1, \dots, \quad (9)$$

$$b_{n-1,v} \geq b_{nv}, \quad \text{for } n \geq v + 1, \quad (10)$$

$$b_{nn} = O\left(\frac{p_n}{P_n}\right). \quad (11)$$

Let (X_n) be a quasi- f -power increasing sequence for some $0 < \delta < 1$, $\sigma \geq 0$ and $(\frac{\varphi_n p_n}{P_n})$ be a non-increasing sequence. If $(\lambda_n) \in \mathcal{BV}$, the conditions (4)-(8) of Theorem 1 and

$$\sum_{n=1}^m \varphi_n^{k-1} \left(\frac{p_n}{P_n}\right)^{k-1} \frac{1}{n} |t_n|^k = O(X_m) \quad \text{as } m \rightarrow \infty, \quad (12)$$

$$\sum_{n=1}^m \varphi_n^{k-1} \left(\frac{p_n}{P_n}\right)^k |t_n|^k = O(X_m) \quad \text{as } m \rightarrow \infty \quad (13)$$

are satisfied, then the series $\sum a_n \lambda_n$ is summable $\varphi - |B, p_n|_k$, $k \geq 1$.

We need the following lemma for the proof the theorem.

Lemma 1 (*[6]*) *Under the conditions of Theorem 2, the following conditions hold;*

$$n\beta_n X_n = O(1) \quad \text{as } n \rightarrow \infty,$$

$$\sum_{n=1}^{\infty} \beta_n X_n < \infty. \quad (14)$$

4 Proof of Theorem 2

Let (I_n) denotes B -transform of the series $\sum a_n \lambda_n$. Then, by (3), we have

$$\bar{\Delta} I_n = \sum_{v=0}^n \hat{b}_{nv} a_v \lambda_v = \sum_{v=1}^n \frac{\hat{b}_{nv} \lambda_v}{v} v a_v.$$

Applying Abel's transformation to this sum, we get

$$\begin{aligned}
 \bar{\Delta}I_n &= \sum_{v=1}^{n-1} \Delta_v \left(\frac{\hat{b}_{nv}\lambda_v}{v} \right) \sum_{r=1}^v r a_r + \frac{\hat{b}_{nn}\lambda_n}{n} \sum_{r=1}^n r a_r \\
 &= \sum_{v=1}^{n-1} \frac{v+1}{v} \Delta_v \left(\hat{b}_{nv} \right) \lambda_v t_v + \sum_{v=1}^{n-1} \frac{v+1}{v} \hat{b}_{n,v+1} \Delta \lambda_v t_v \\
 &\quad + \sum_{v=1}^{n-1} \hat{b}_{n,v+1} \lambda_{v+1} \frac{t_v}{v} + \frac{n+1}{n} b_{nn} \lambda_n t_n \\
 &= I_{n,1} + I_{n,2} + I_{n,3} + I_{n,4}.
 \end{aligned}$$

To complete the proof of Theorem 2, it is enough to show that

$$\sum_{n=1}^{\infty} \varphi_n^{k-1} |I_{n,r}|^k < \infty, \quad \text{for } r = 1, 2, 3, 4. \quad (15)$$

First, applying Hölder's inequality with indices k and k' , where $k > 1$ and $\frac{1}{k} + \frac{1}{k'} = 1$, we have

$$\begin{aligned}
 \sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,1}|^k &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} \left| \Delta_v(\hat{b}_{nv}) \right| |\lambda_v| |t_v| \right)^k \\
 &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} \left| \Delta_v(\hat{b}_{nv}) \right| |\lambda_v|^k |t_v|^k \right) \times \left(\sum_{v=1}^{n-1} |\Delta_v(\hat{b}_{nv})| \right)^{k-1}.
 \end{aligned}$$

By (1) and (2), we have that

$$\begin{aligned}
 \Delta_v(\hat{b}_{nv}) = \hat{b}_{nv} - \hat{b}_{n,v+1} &= \bar{b}_{nv} - \bar{b}_{n-1,v} - \bar{b}_{n,v+1} + \bar{b}_{n-1,v+1} \\
 &= b_{nv} - b_{n-1,v}.
 \end{aligned} \quad (16)$$

Thus using (1), (9) and (10)

$$\sum_{v=1}^{n-1} |\Delta_v(\hat{b}_{nv})| = \sum_{v=1}^{n-1} (b_{n-1,v} - b_{nv}) \leq b_{nn}.$$

Thus

$$\begin{aligned}
 \sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,1}|^k &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} b_{nn}^{k-1} \left(\sum_{v=1}^{n-1} \left| \Delta_v(\hat{b}_{nv}) \right| |\lambda_v|^k |t_v|^k \right) \\
 &= O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} \left| \Delta_v(\hat{b}_{nv}) \right| |\lambda_v|^k |t_v|^k \right) \\
 &= O(1) \sum_{v=1}^m |\lambda_v|^k |t_v|^k \sum_{n=v+1}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} |\Delta_v(\hat{b}_{nv})| \\
 &= O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v} \right)^{k-1} |\lambda_v|^k |t_v|^k \sum_{n=v+1}^{m+1} |\Delta_v(\hat{b}_{nv})|.
 \end{aligned}$$

Now, using (10) and (16), we obtain

$$\sum_{n=v+1}^{m+1} |\Delta_v(\hat{b}_{nv})| = \sum_{n=v+1}^{m+1} (b_{n-1,v} - b_{nv}) \leq b_{vv},$$

and so

$$\begin{aligned} \sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,1}|^k &= O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v} \right)^{k-1} |\lambda_v|^{k-1} |\lambda_v| |t_v|^k b_{vv} \\ &= O(1) \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^k |\lambda_v| |t_v|^k \\ &= O(1) \sum_{v=1}^{m-1} \Delta |\lambda_v| \sum_{n=1}^v \varphi_n^{k-1} \left(\frac{p_n}{P_n} \right)^k |t_n|^k + O(1) |\lambda_m| \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^k |t_v|^k \\ &= O(1) \sum_{v=1}^{m-1} |\Delta \lambda_v| X_v + O(1) |\lambda_m| X_m \\ &= O(1) \sum_{n=1}^{m-1} \beta_n X_n + O(1) |\lambda_m| X_m \\ &= O(1) \quad \text{as } m \rightarrow \infty, \end{aligned}$$

by virtue of the hypotheses of Theorem 2 and Lemma 1.

By Hölder's inequality, we have

$$\begin{aligned} \sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,2}|^k &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\Delta \lambda_v| |t_v| \right)^k \\ &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\Delta \lambda_v| |t_v|^k \right) \times \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\Delta \lambda_v| \right)^{k-1} \\ &= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} b_{nn}^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| \beta_v |t_v|^k \right) \times \left(\sum_{v=1}^{n-1} |\Delta \lambda_v| \right)^{k-1} \\ &= O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| \beta_v |t_v|^k \right) \\ &= O(1) \sum_{v=1}^m \beta_v |t_v|^k \sum_{n=v+1}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} |\hat{b}_{n,v+1}| \\ &= O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v} \right)^{k-1} \beta_v |t_v|^k \sum_{n=v+1}^{m+1} |\hat{b}_{n,v+1}|. \end{aligned}$$

By (1), (2), (9) and (10), we obtain

$$|\hat{b}_{n,v+1}| = \sum_{i=0}^v (b_{n-1,i} - b_{ni}).$$

Thus, using (1) and (9), we have

$$\sum_{n=v+1}^{m+1} |\hat{b}_{n,v+1}| = \sum_{n=v+1}^{m+1} \sum_{i=0}^v (b_{n-1,i} - b_{ni}) \leq 1,$$

thus

$$\begin{aligned} \sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,2}|^k &= O(1) \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^{k-1} v \beta_v \frac{1}{v} |t_v|^k \\ &= O(1) \sum_{v=1}^{m-1} \Delta(v \beta_v) \sum_{r=1}^v \varphi_r^{k-1} \left(\frac{p_r}{P_r} \right)^{k-1} \frac{1}{r} |t_r|^k \\ &+ O(1) m \beta_m \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^{k-1} \frac{1}{v} |t_v|^k \\ &= O(1) \sum_{v=1}^{m-1} v |\Delta \beta_v| X_v + O(1) \sum_{v=1}^{m-1} \beta_v X_v + O(1) m \beta_m X_m \\ &= O(1) \quad \text{as } m \rightarrow \infty, \end{aligned}$$

by virtue of the hypotheses of Theorem 2 and Lemma 1.

Also, we have

$$\begin{aligned}
\sum_{n=2}^{m+1} \varphi_n^{k-1} |I_{n,3}|^k &\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|}{v} \right)^k \\
&\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|^k}{v} \right) \times \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| \frac{|\lambda_{v+1}|}{v} \right)^{k-1} \\
&\leq \sum_{n=2}^{m+1} \varphi_n^{k-1} b_{nn}^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|^k}{v} \right) \times \left(\sum_{v=1}^{n-1} \frac{|\lambda_{v+1}|}{v} \right)^{k-1} \\
&= O(1) \sum_{n=2}^{m+1} \varphi_n^{k-1} \left(\frac{p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|^k}{v} \right) \\
&= O(1) \sum_{n=2}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} \left(\sum_{v=1}^{n-1} |\hat{b}_{n,v+1}| |\lambda_{v+1}| \frac{|t_v|^k}{v} \right) \\
&= O(1) \sum_{v=1}^m |\lambda_{v+1}| \frac{|t_v|^k}{v} \sum_{n=v+1}^{m+1} \left(\frac{\varphi_n p_n}{P_n} \right)^{k-1} |\hat{b}_{n,v+1}| \\
&= O(1) \sum_{v=1}^m \left(\frac{\varphi_v p_v}{P_v} \right)^{k-1} |\lambda_{v+1}| \frac{|t_v|^k}{v} \sum_{n=v+1}^{m+1} |\hat{b}_{n,v+1}| \\
&= O(1) \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^{k-1} |\lambda_{v+1}| \frac{|t_v|^k}{v} \\
&= O(1) \sum_{v=1}^{m-1} |\Delta \lambda_{v+1}| \sum_{r=1}^v \varphi_r^{k-1} \left(\frac{p_r}{P_r} \right)^{k-1} \frac{1}{r} |t_r|^k \\
&+ O(1) |\lambda_{m+1}| \sum_{v=1}^m \varphi_v^{k-1} \left(\frac{p_v}{P_v} \right)^{k-1} \frac{1}{v} |t_v|^k \\
&= O(1) \sum_{v=1}^{m-1} \beta_{v+1} X_{v+1} + O(1) |\lambda_{m+1}| X_{m+1} \\
&= O(1) \quad \text{as } m \rightarrow \infty,
\end{aligned}$$

by using (4), (7), (8), (11), (12) and (14).

Finally, as in $I_{n,1}$, we have

$$\begin{aligned}
 \sum_{n=1}^m \varphi_n^{k-1} |I_{n,1}|^k &= O(1) \sum_{n=1}^m \varphi_n^{k-1} b_{nn}^k |\lambda_n|^k |t_n|^k \\
 &= O(1) \sum_{n=1}^m \varphi_n^{k-1} \left(\frac{p_n}{P_n}\right)^k |\lambda_n|^{k-1} |\lambda_n| |t_n|^k \\
 &= O(1) \sum_{n=1}^m \varphi_n^{k-1} \left(\frac{p_n}{P_n}\right)^k |\lambda_n| |t_n|^k \\
 &= O(1) \quad \text{as } m \rightarrow \infty,
 \end{aligned}$$

by using (4), (7), (11), (13) and (14). This completes the proof of Theorem 2.

5 Conclusions

If we take $\sigma = 0$ in Theorem 2, then we get a theorem dealing with quasi δ -power increasing sequences (see [16]). If we take $\varphi_n = \frac{P_n}{p_n}$, $b_{nv} = \frac{p_v}{P_n}$ and (X_n) as an almost increasing sequence, then we get Theorem 1. If we take $\varphi_n = \frac{P_n}{p_n}$ and (X_n) as an almost increasing sequence, then we get a theorem dealing with $|B, p_n|_k$ summability (see [14]). In the last two cases, the condition $(\lambda_n) \in \mathcal{BV}$ is not needed.

Limitations

The results of the paper are theoretical and are restricted to absolute matrix summability factors of infinite series under the stated hypotheses. The applicability of the main theorem depends on several technical assumptions involving the normal matrix, the sequence (p_n) , the sequence (λ_n) , and the auxiliary sequence (X_n) . The paper does not provide concrete examples illustrating the verification of these assumptions for specific series or matrices. It also does not include numerical demonstrations or applications outside the framework of summability theory. The conclusions are therefore limited to the mathematical setting developed in the manuscript. Further work may consider explicit examples, comparisons with related summability methods, or additional special cases that clarify the practical use of the theorem.

References

- [1] Bari, N.K., Stečkin, S.B.: Best approximations and differential properties of two conjugate functions. Trudy Moskov. Mat. Obšč. **5**, 483-522 (1956) (in Russian)
- [2] Bor, H.: On two summability methods. Math. Proc. Cambridge Philos. Soc. **97**(1), 147-149 (1985)
- [3] Bor, H.: On absolute Riesz summability factors. Adv. Stud. Contemp. Math. (Pusan) **3**(2), 23-29 (2001)
- [4] Bor, H., Özarslan, H.S.: On the quasi power increasing sequences. J. Math. Anal. Appl. **276**(2), 924-929 (2002)
- [5] Bor, H., Özarslan, H.S.: A study on quasi power increasing sequences. Rocky Mountain J. Math. **38**(3), 801-807 (2008)

- [6] Bor, H.: A new application of generalized power increasing sequences. *Filomat* **26**(3), 631-635 (2012)
- [7] Bor, H.: A new result on the quasi power increasing sequences. *Appl. Math. Comput.* **248**, 426-429 (2014)
- [8] Bor, H.: On quasi-power increasing sequences and their some applications. *Int. J. Anal. Appl.* **10**(2), 95-100 (2016)
- [9] Bor, H.: A new application of quasi monotone sequences and quasi power increasing sequences to factored infinite series. *Filomat* **31**(16), 5105-5109 (2017)
- [10] Hardy, G.H.: *Divergent Series*. Oxford: Oxford University Press, (1949).
- [11] Karakaş, A.: On absolute matrix summability factors of infinite series. *J. Class. Anal.* **13**(2), 133-139 (2018)
- [12] Kartal, B.: On an extension of absolute summability. *Konuralp J. Math.* **7**(2), 433-437 (2019)
- [13] Leindler, L.: A new application of quasi power increasing sequences. *Publ. Math. Debrecen.* **58**(4), 791-796 (2001)
- [14] Özarslan, H.S.: A new application of absolute matrix summability. *C. R. Acad. Bulgare Sci.* **68**(8), 967-972 (2015)
- [15] Özarslan, H.S.: On generalized absolute matrix summability methods. *Int. J. Anal. Appl.* **12**(1), 66-70 (2016)
- [16] Özarslan, H.S.: A new application of quasi power increasing sequences. *AIP Conf. Proc.* **1926**(020031), 1-6 (2018)
- [17] Özarslan, H.S.: A new factor theorem for absolute matrix summability. *Quaest. Math.* **42**(6), 803-809 (2019)
- [18] Özarslan, H.S.: An application of absolute matrix summability using almost increasing and δ -quasi-monotone sequences. *Kyungpook Math. J.* **59**(2), 233-240 (2019)
- [19] Özarslan, H.S.: Generalized quasi power increasing sequences. *Appl. Math. E-Notes* **19**, 38-45 (2019)

- [20] Özarslan, H.S.: A new result on the quasi power increasing sequences. *Annal. Univ. Paedagog. Crac. Stud. Math.* **19**, 95-103 (2020)
- [21] Özarslan, H.S., Kartal, B.: Absolute matrix summability via almost increasing sequence. *Quaest. Math.* **43**(10), 1477-1485 (2020)
- [22] Özarslan, H.S.: A new theorem on generalized absolute matrix summability. *Azerb. J. Math.*, **13**(1), 3–13 (2023)
- [23] Özarslan, H.S., Şakar, M.Ö., Kartal, B.: Applications of quasi power increasing sequences to infinite series. *J. Appl. Math. & Informatics* **41**(1), 1-9 (2023)
- [24] Sulaiman, W.T.: Inclusion theorems for absolute matrix summability methods of an infinite series. IV. *Indian J. Pure Appl. Math.* **34**(11), 1547-1557 (2003)
- [25] Sulaiman, W.T.: Extension on absolute summability factors of infinite series. *J. Math. Anal. Appl.* **322**(2), 1224-1230 (2006)